
SIMPLE INTEREST

6.7





16,000,000,000,000; 12 zeros

160 billion

$438, 356,164.40

about $509.55



a. 𝐼 = 𝑃𝑟𝑡

𝐼 = 500(.0.03)(3)

𝐼 = 45

b.  To find the balance, add the interest to the principal.













So, the annual interest rate of the account is 2.5%.



Principal: $500, Interest Rate: 3%,  Time: 9 months (3/4 of a year or 0.75 of a year)

𝐼 = 𝑃𝑟𝑡

𝐼 = 500(0.03)(0.75)

𝐼 = 11.25

Balance after 9 months will be $511.25

17.50 = 350(𝑟)(2.5)

17.50 = 875𝑟

0.02 = 𝑟

Interest rate is 2%.

























750 = 10,000 0.03 𝑡

750 = 300𝑡

2.5 = 𝑡

It would take 2.5 years to earn $750 in interest.

𝐼 = 600 0.15 2

𝐼 = 180

450 – 180 = 270.  So, you would save $270 if you paid off your loan
in 2 years instead of 5 years.


